Signals and Systems I EE360: Spring 19

Homework #9
Due We. 5/08

A number of these homework problems require you first go through the “Solved Problems” since
the description/definition is not in the chapter material.

You are allowed to use Matlab (or similar) to help solve these problems but will be required to
know how to do them by hand for the Final Exam. As an example, you may want to find the
inverse using the Symbolic Toolbox:

syms z; % create symbolic variable z
A = eye(3); % create simple system matrix
G = (z*xeye(3) -A)"-1 % find inverse

Other Matlab functions that may be helpful include inv.m, rank.m, eig.m.

1. (Schaum 7.6) [half points]
Solution

See book solutions.

2. (Schaum 7.16 - 7.17)

Note this problem is solved in the book already but highlights the difference between canonical
forms.

Solution

See book solutions.

3. (Schaum 7.65)
Solution
Notice this is a multi-output problem.

The outputs can be found by inspection as:

1 1

t) = ——q2(t —x(t) = qa2(t t

n(0) =~ a2(t) + 7-al0) = aalt) +a()
ya2(t) = g2(t)

The state equations require more effort. First, do KVL on the right loop:

q1(t) =ir(t)

= Ldizt(t) +iL(t)R = ga(t)
qld(tt) — _%ql(t) + QQ(t)

Next, KCL @ the node above the inductor:
2(t) = ve(t)

= io(t) +ip(t) =

R
dv(;ft) L) = x(t) ;{cp(t)
dqa(t) =—qt)— lq2(7§) + x(t)

dt R



http://www.accessengineeringlibrary.com/browse/schaums-outline-of-signals-and-systems-third-edition/c9780071829465ch07#ch07fig06
http://www.accessengineeringlibrary.com/browse/schaums-outline-of-signals-and-systems-third-edition/c9780071829465ch07#ch07fig14
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This results in the state space equations

4. (Schaum 7.68)

Solution

(a) Using the states as labeled,

q1(t) = —2q1(t) — 3q2(t)
do(t) = q2(t) + x(t)
y(t) = q1(t) + ga(t)

These relationships result in state-space representation,
. -2 =3 0
at=| 75 73 aw+ Y] <0
y(t)=[1 1] q(t) + 0x(t)

(b) The eigenvalues of matrix A can be found using Matlab’s eig.m function. The eigenval-

ues are A\ = [—2 1]T. Since the real part of Re{A2} > 0, this is not an asymptotically
stable system.

()
H(s) =c(sI — A)~1b
Define G = (sI — A)~1
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(d) Since the system only has a pole @ s = —2 and is causal, this implies the system is

BIBO stable. Notice, that even though part (b) was unstable, because of pole/zero
cancellation, this turns out to be a BIBO stable system. Therefore it is important to
check the system function to determine stability.
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5. (Schaum 7.71(b))

Solution

=L {(sT — A7}
- ul{[ oy [ )
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s+2 + s+1 s+2 + s+1
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Doing PFE on each element of the 2 x 2 matrix

3 1 3
A:8+ = — =-1 B:S+ =2
s+ 1,2, -1 s+ 2|,
1 1
s+ 1], s+2|,__4
—2 —2
S+1 s=—2 5"‘2 s=—1
S S
G = =2 H = =-1
s+1 s=—2 s+2 s=—1

Resulting in matrix elements that have the inverse Laplace transform taken by inspection

e-effig 30

s+2 + s+1 s+2 + s—i—l
—e 2 4 2e7t —e72 4 e
T | 9e=2t _ 9p—t  9p—2t _ e—t u(t)

6. (Schaum 7.72)

Please solve it without trying to use the [e*t cos t] u(t) types of terms but instead just using
normal PFE. Note this means you will have complex « in the e=*u(t) terms.

Solution

Notice that you will be using the system from 7.65 to find the output with the equation
Y (s) = C(sI — A)~'q[0] + [C(sT — A)7'b + d) X (s).

Since we are told to solve this under initially relaxed conditions, the output only depends on
the input x(t) = u(t) < X(s) = 3

Y(s) = [C(sI — A7 b+ d|X(s).
To solve this, define

G=<sI—A>1=[i Z]
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and note that since we only need to find v.(t) = y2(¢) only the bottom row of the output
equations (state space matrices C' and d) is required.

Y(s) = [e(sI — A)7'b+ d] X (s)

[o 10[] ]
[o af B

=l a )

1
—d-

S

The d entry of G can be found by taking the inverse

-1
. - -1 _ S + 1 —].
G=(sI—4) _{1, 5+J
_ 1 s+1 1
Co(sH 1241 -1 s+1
s+ 1
= d= s24+25+2°
Finally, the output can be found by PFE and inverse LT,
1
— L — é + b + ¢
Cos(s24+25+2) s s+(1—35) s+ (1+7)
_2 YRG-1) | —1/RG+1)

s s+ (1—37) s+ (1+7)
The output can be found using a Laplace Transform table as

1
2G+1)°

e U=ty (1) — —+Dty (4.
7. (Schaum 7.73)

Solution

See problem 7.48 for a similar problem.

Since, there are no differentials on z(t), let the state variables be directly related to the output
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Arranging into matrix form the state equations are

y(t)=[1 0]a(t)

The output with the given initial conditions can be found as

t
y(t) = cet'q(0) +/ ce oz (r)dr
0

Using the result from (7.71) for e4?,

At a b
Sl
A -(L b- -0-
ce*'q(0) = [1 0] ¢ dl |1 =b

— (e — e Pu(t)

i
_0_ B 0

ceAt=Tp = [1 0]

The final result is just from the initial conditions (since there is no input x(t))

y(t) = (7" — e u(t)




